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logarithmic V , Vo-data uy=(A — 550) / 50
logV =(logMo+ logLo)/2 logM==0,35[u\—Ussq]?
logVo =logV + 0,02 logL o=—0,35[uy~Us7?
log [Vo, V , Mg, Lo] Adaptation: A\ =557

545997570
maximum
Lo log(Vm)=-0,02
Vmi=0,95
Threshold
t:=0,00
1=0,0000

(2 Viv — R
400 500 550 600 700 A/nm
DEAT70-1A 545,557,570

logarithmic V , Vo-data uy=(A — 550) / 50
logV =(logGy+log )/2 logG,=-0,35up—Us]?
logVo=logV +0,19 log =-0,35luy-u J?
log [Vo, V, Go, Adaptation: Ac =557

maximum

log(Vm)=-0,19
Vm=0,63
Threshold
t=0,00
t=0,0000

-3 vy -1 0 T3

400 500 550 600 700 A/nm

DEA70-3A 520,557,595

logarithmic -data uy=(A — 550) / 50

=(log +logMg)/2 log =-0,35u)-u J?

=logG + 0,08 logVo=—0,35\~Us45?
,Mo1 Adaptation: A =520

545

—

maximum
Mo 109(Cm)=-0,08
m=0,81
Threshold
t5=0,00
t=0,0000

-1 0 1 3
400 500 550 600 700 A/nm

DEA70-5A 495,520,545
logarithmic L , Lo-data
logL =(logMy+ log
logLo =logL + 0,08
log [Lo, L, Mo,

uy=(A — 550) / 50

)/2 1ogM=-0,35[uy-u ]
log =-0,35[u\-u:-]?
Adaptation: Ay =570

545570

maximum

log(Lm)=-0,08
Lm=0,81
Threshold
t=0,00
t=0,0000

0 1
500 550 600

545,570,595

DEA70-7A

logarithmic V , Vy-data uy=(A — 550) / 50
logV =(logMo+ logLe)/2 logMo==0,35[uy-Uss?
logVo =logV + 0,02 logL o=—0,35[uy~Us7?
log[Mo/V ,Lo/V ] Adaptation: Ay =557

545957570

maximum

MoV

t=0,0000

-1 0 1 g
500 550 600 700 A/nm

545,557,570

DEA70-2A
logarithmic V , Vy-data uy=(A — 550) / 50
logV =(logGy+log )/2 logG,=—0,35p—Us2]?
logVo =logV +0,19 log =-0,35luy-u ]2
log[Go/V, [V ] Adaptation: A\ =557

maximum

log(Vm)=-0,19
Vm=0,63
Threshold

1=0,0000

0 1 3 U
500 550 600 700 A/nm

520,557,595

DEAT70-4A
logarithmic -data uy=(A — 550) / 50
=(log +logM)/2 log =-0,35l\—u ]2
=logG + 0,08 log M o=-0,35)~Us5)?
/G, Mo/G ] Adaptation: A ,=520

maximum
log(Gm)=-0,08
m=0,81

Threshold

500 550 600 700 A/nm

DEAT70-6A 495,520,545
logarithmic L , L,-data
logL =(logMy+ log
logLo=logL + 0,08
log[Mo/L, /L]

545570

uy=(A - 550) / 50

)/2 |OgMo= 0,35[U)\—Ur_15]2
log =-0,35lu\-u ]2
Adaptation: Ay =470

maximum

log(Lm)=-0,08
Lm=0,81
Threshold

1=0,0000

500 550 600 700nm
DEA70-8A 545,570,595

Moi=Mottj, Loi=Lot;
Vai=(Moj+ Loi)/2
Voi=Vai/ 0,95

Voi, Vai, Mo, Loi

uy=(A - 550) / 50
|OgMO:—O,35p)\—U545]2
logL o=—0,35u\~Us7?
Adaptation: Ay =557

545957570

MOI

’ '_,3 VoiVai _,1 O

maximum
Loi log(Vim)=-0,02
Vm=0,95
Threshold
t5=0,00
i=0,001

1 3 uy

400 500 550
DEA71-1A 545,557,570

=G, =+
Va=(Goi+ )2
Voi=Vai/ 0,63
Voi, Vai, ’

600 700 A/nm

uy=(A - 550) / 50
log G,=-0,35uy—u
log =-0,35u)—u
Adaptation: A =557

‘/
’ '_,3 VoiVai _,1 O

maximum

log(Vm)=-0,19
Vm=0,63
Threshold
t=0,00
t=0,001

~
1 3 uy

400 500 550
DEATL-3A 520,557,595

=+, Moi=MoHt

=( +Mq)/2

=G,/0,81

, ) , Moi

545

600 700 A/nm

uy=(A - 550) / 50
log =-0,35u)-u J?
logVo=—0,35j~Us45?
Adaptation: A =520

/

-1 0

maximum
Moi 109(Cm)=-0,08
m=0,81
Threshold
ta=0,00
t=0,001

1 3 uy

500 550
495,520,545
Moi=Mottj, = Hj
La=(Moi+ )2
Loi=L4i/ 0,81
Loi, Lai: Moi,

DEA71-5A

545570

600 700 A/nm

uy=(A - 550) / 50
logVo=—0,35uj~Us7]?
log =-0,35lu\-u ]?
Adaptation: Ay =570

"__3 I-oil-ai__l (_)

maximum

log(Lm)=-0,08
Lm=0,81
Threshold
t=0,00
t=0,001

1 & Uy

400 510 550
DEA71-7A 545,570,595
DEA71-7N

600 700 A/nm

Moi=MoH;, Loi=Lott;

Vai=(Moi+ Loi)/2
Voi=Vai/ 0,95
Moi / Vai, Loi / Vai

uy=(A - 550) / 50
|Og|\/|o 0,35[U)\—UF_1F 2
logL o=—0,35[uy~Us7q?
Adaptation: A\ =557

545957570

2

-1

0

maximum

1

500 550 600
570

Voi=Vai/ 0,63
I Vai, I Vai

700 A/nm

uy=(A - 550) / 50
log G,==0,35[uy~Us2]?
log =-0,35Uy-u ]2
Adaptation: A =557

-1

0

maximum

1

DEA71-4A 520,557,595

500 550 600

+i, Moi=MoHt;

+ Moj)/2
/0,81

700 A/nm

uy=(A - 550) / 50
log =-0,35u),-u ]2
logVo=-0,35[U)~Us.5)?
Adaptation: A ,=520

-1

0

maximum
log(Gm)=-0,08
m=0,81

Threshold

1

DEAT1-6A 495,520,545
Moi=Mottj,
La=(Moj+
Loi=L4i/ 0,81
Moi / Lai, I Lai

2

500 550 600

545570

700 A/nm

Adaptation: Ay =570

-1

0

maximum

log(Lrm)=-0,08
Ln=0,81
Threshold

1

DEA71-8A 545,570,595

TUB-test chart DEA7; Relative colour vision: 495(C), 520(G), 545-557-570(MVL), 595(0)
log & lin [Sensitivities and excitation§MS-R21_Mx (x=1,2,3,4}hresholdz=0,00 and;=0,001

510 550 600

700 A/nm
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